GROUP E

©
-

Exploded View : EV FUEL SYSTEM G4.5L G26 48KW

Drawing No. : A00000272488

Page 1 of 2

Revision : CN-0051205-C

Date : 10/27/21



EXPLODEDVIEW: EV FUEL SYSTEM G4.5L G26 48KW

DRAWING#: A0000272488

GROUP

APPLICABLETO:
ITEM PARTH# DESCRIPTION
1 A000247621 1 ADAPTER JIC-F 1-1/4 X BARB 1-1/4
2 (G035586 2 CLAMP HOSE #20 .87-1.75
3 G057434 1 HOSE 1.25 ID LP & NG (40°LG)
4 G070303 1 BARBED STRAIGHT 1.25 NPT X 1.25
5 G030131 1 ELBOW 90D 1-1/4NPT
6 0K9049 2 NIPPLE PIPE 1-1/4 NPT X 2 ZINC
7 0E0694 2 ASSY NATGAS FUEL SOLENOID 12V
8 G039414 8 SCREW HHC M8-1.25 X 35 C8.8
9 G045771 8 NUT HEX M8-1.25 G8 CLEAR ZINC
10 10000018175 1 SENSOR LOW PRESSURE 4KPA
1 10000039804 1 BRACKET-PRESSURE SENSOR
12 A0000263955 1 FITTING 1/8" M NPT X 10.4 MM DIA
13 0L5885 1 PLUG PLASTIC 1.25 TAPERED CAP
14 055945A 1 O-RING - DBL GAS SHUTOFF VALVE
15 A0000263841 2 ST03 BRKT FUEL VALVE FAME G4.5L G26 C2
16 A0000139077 1 SWITCH PRESSURE GAS 3.0" RISE
17 0E7162 1 BSHG RDCR HEX 1-1/4 X 1/4FNPT
18 G022145 20 WASHER FLAT 5/16-M8 STEEL ZINC
19 G022129 12 WASHER LOCK SPRING 5/16 ZC
20 G043107 4 SCREW HHC M8-1.25 X 25 C8.8
(121 A0000271134 2 HARN JUMPER FUEL SOLENOID (NOT SHOWN)
(2)22 A0000215896 1 HARN FUEL SYS G4.5L G26 (NOT SHOWN)
23 (G064346 1 PIPE TEE 1-1/4 NPT
24 0K6367 1 NIPPLE HEX 1/4-18 NPT STL/ZC
25 (G029453 1 PIPE TEE 1/4 NPT
26 G035579 1 BSHG RDCR HEX 1/4 TO 1/8
27 0K2340 1 PLUG PRESSURE GAUGE 1/4 NPT
28 0K3795 1 HANG TAG FUEL PRESSURE TEST POINT
29 A0000156899 REF GROMMET FUEL LINE 1-1/4

NOTES (UNLESS OTHERWISE SPECIFIED):

(1) ONE JUMPER USED PER EACH ITEM #7 VALVE AS INTERFACE TO HARNESS.

(2) IIN 22 CONNECTS IIN 16 AND IIN 7.

REVISION: CN-0051205-C
DATE: 10/28/2021

Page 2 of 2



